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MATHEMATICS

(Hindi & English Version)

[Total No. of Questions: 23] [Total No. of Printed Pages: 16]
[Maximum Marks: 80]

[Time: 03 Hours] _ ot
fAder -

(1) e gET g EVAT AT 2
(2) W BHE 01 @ 05 @ awjive g &/ frae oy 1x32=32 & FEita &

(3) W FEE 06 W 15 TF HAE T 2 3F P&/
(4) ¥ BH 16 B 19 TH FAT AT 3 HE P E
(5) T B 20 © 23 0B HAE GV 4 IE Pl E

Instructions-
(1) All questions are compulsory.

(2) Question number 01 to 05 are objective question and question carries
1 x 32 =32 marks.

(3) Answer Question number 06 to 15 each question carries 2 marks.

(4) Answer Question number 16 to 19 each question carries 3 marks.

(5) Answer Question number 20 to 23 each question carries 4 marks.
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91 wé e e fafag -
() 79 g & frdois & -
@) (1,1 @ (1.0
(&) (0.0) @ ©1)
@) RS (:2,3) s a3 R g
(@) wum =ty e
(®) T wgute @) ugd aguta

(i) y=3x+5a1 —
@) = Afgda g 2 @ daa A A E)
@) IR T Varsea ) (@ o s 80|

(iv) y=ad Tera T 6 & 8 —
@) x- ¥ F FARR @ y-3E D FAFR
) X - 39 & THad (@) y- I & opaga
(v) w Brgw @ A B B AT @ @ -
(@) 90° @ 180°
() 360° @ o°
(vi) A @ A A g @ -
(@) 0° 4 90° (8) 90° & 180°

(|9) 180° | 200° () 200° & 360°
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Choose and write the correct option -
() The coordinates of the origin are -
(@ (1,1) (b) (1.0)
(c) (0,0 (d) (0,1)
(i) In which quadrant the point (-2, -3) is situated?
(a) First quadrant (b) Second quadrant
(c) Third quadrant (d) Fourth quadrant
(i) y=3x+5has-
(@) Unique solution. (b) Only two solutions.
(c) Infinitely many solutions. (d) No solution.

(iv) The graph of y = a is a straight line parallel to the -
(a) Parallel to x-axis (b) Parallel to y-axis

(¢) Perpendicular to x-axis (d) Perpendicular to y-axis

(v) The sum of the three angles of a triangle is -

(a) 90° (b) 180°

(c) 360° (d) 0°

(vi) Measures of acute angle is -

(a) 0°to 90° (b) 90°to 180°

(c) 180° to 200° (d) 200°to 360°
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v2 Raa @ § 98 Rdes g fafeg - (1x7=7)

iy @rat 2 2 afd I et wHE B |
0 ! (Wq/qahmq/w)
” e R (direrea / AR / o)
iy R0 g & wh PN FT A ..o BT B

(90° / 180° / 360°)
(iv) U Pria &) 9iftasr 99 g1 aRIaR e 3§ faifre @wdl 21

@rrrer arer gl / Wt it / e )
(v) < EARR I awaR AMR W AR Ue & e YaRi @ 49

Rerd 8, S@ &G BT AR B ..o |
(1:2/1:1/2:1)
(vi) T I fagai A Bew a0 G &1 9P E|
(@@ /31 / 3=)
(Vi) 546 X 8 =.rvoorveeree) . (4068/4368/4328)

Fill in the blanks with correct option -

() Two square are ...................if their sides are equal.
| (similar/congruent/equal)

(i) Longest side of right triangle is....................
(altitudes/base/hypotenuse)

(i) The sum of all angles of a quadrilateralis...............................
(90° /180° / 360°)

(iv) The median of a triangle divides it into two equal........................

(triangle of area/congruent triangle/right angle triangle)
(v) If two parallelograms are between the same base and the same
parallel lines, then the ratio of their areas will be................ ...

(12/1:11 /21)
(vi) The number of circles which passing through three non-collinear
pOintS F= T - (oneftwoﬁnfinite)

(Vii) 546 X 8 =..erccrorersrerrroeereee (4068/4368/4328)
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o e ara Rifag — (1x6=t)

v .

wH w
(i) 0.45+ 025 (T.r.) -34
i 5 () 0.8
(ii) (-4) x(-2.5) () 0.05
(iv) -3.5+25 ') 0.70
v) : ) 10
v I -1

Match the columns and write the correct pair -

columns ‘A’ columns ‘B’
() 0.45+0.25 (a) -34
(ii) '—:’;“E (b) 0.8
(i) (-4) x (-2.5) (c) 0.05
(iv) -35+25 (d) 0.70
™ 3 (&) 10
(vi) 3 M) 1
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94 / 3\ fofae —
1) 7T wrpa e ve qof wen ad 2|
(i) 2 IR wemeh &1 g wig oRyg wen BT B

(i) Irfge @1 o7 TS By 2

a+b+c

liv) af Rowh Bt &1 (ot a, b e c o, o g SGURATS
81T |

(v) N#Tﬁﬁaﬂ&rmﬂﬂzgnﬁ

Vi) -+ @AM 2 gy

Write true/false -

(i) Every natural number is a whole number.

(i) The sum of two irrational number is always a rational number.

(i) The angle of semicircle is a right angle.

(iv) If the sides of a triangle are a, b and ¢, then its semi-perimeter is

a+b+c

2

(v) The volume of hemisphere is inr?

(vi) £+ isequalto2.

(1x8=8)
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a5 oF TR/ § IR e - (17=7)
(i) (100 &1 79 71 AP

(i) ¥a® T8z A um T A &2

(if) m‘aga%aﬁuméfrqaﬁ-rliam

(iv) v fif¥aa Stwa, 9§ vela 6y T @l a de Bt 7 wed 87
(v) TgaF T _Y

(vi) TR A SR BT G T 22

(viiy fFif¥aa gear A midsar w1 B %?I

W:;ite the answer in one word/sehtence -

() ~ What s the value of (100)3?

(i) What is the degree of the ]inear polynomial?

(iii) ‘Write the formula of volume of cone.

(iv) Facts or figures, collected with a definite purpose are called.
(V) Wr;at is mode? I

(vi) What is the formula of probability?

(vii) What is the probability of sure event?
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1
6 &1 8 BT gfGiHor Hifu |

V7-V6
Rationalise the denominator of the ﬁi &
Jear/OR
(V5+V2)" # & IR |
Solve - (vV5+v2)'.
W7 e B — 22 - 28
Simplify - 22 - 25
g/ OR

s

99

1 7
WA P — (Ei)_ﬂ)
7
Simplify - (#)
3x*-4x3-3x -1 B x -1 Q9 3 W U I9G $ DY |

Find the remainder obtained on dividing 3x*- 4x3-3x -1 by x - 1,

syar/OR
x3+1 B x + 1 9 9T S R NG FIT DI

Find the remainder obtained on dividing x* +1 by x + 1.

P(0) Td P(1) @ faT 9895 2x°—3x* + 4x—5 &1 A9 T Fiforg |

Find the value of polynomial 2x°— 3x* + 4x - 5 for P(0) and P(1).

serar/OR
x=-1 P forg 9gug 5x - 4x? + 3 T AT T HIfTQ |

Find the value of polynomial 5x - 4x* + 3 for x = -1.
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W10 FTHI act § M g N Rt PuiRa #vd arch AR sy gsiue i)
aﬁcrcnﬂmk?\mh'-gmrﬂmmmaﬂ&a}mwﬁwfmmm#l
(@)
What is the name of horizontal and the vertical lines drawn to

determine the position of any point in the Cartesian plane? Write the

name of the point where these two lines intersect.
ST /OR
R (-1, 3), (2, 3), (4, -5) 3IR (3, -4) farr gt % Rerar &2
In which quadrant of the point (-1, 3), (2, 3), (4, -5) and (-3, -4) are lie?
w11 3k R (3, 4) Gfiawor By = ax + 73 ITeiE W fRer B, @ a &1 A9 3G
I | @)

If the point (3, 4) lies on the graph of the equation 3y = ax +7, then find

the value of ‘a’. https://www mpboardonline.com
J¥ar/OR
FNBRYT 2x + 1 = X - 3 BT &6 HNG|

Solve the equation 2x + 1 = x - 3.
712 [m A ABCD & wa=R =agifsl @ AELDC 3R CFLAD 2| af

AB = 16 ¥4, AE = 8 31 3R CF = 10 ¥ &, & AD 519 #fre 2)
A B
E
D E C
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In fig., ABCD is a parallelogram, AELDC and CFLAD. If AB = 16 cm,

AE =8 cm and CF = 10 cm. then find AD.
A B

HﬁE,F,GGﬁYHmzwa@jﬁlABCDaﬁgwﬁa%ﬂwﬁﬁg
o fen 5 ar (EFGH) = + ar (ABCD) ¥
If E, F, G and H are respectively the mid-points of the sides of a

parallelogram ABCD, show that ar (EFGH) = ~ ar (ABCD).

913 U WE & Gl TOR SR T A, frwed ffe Hard 21 A 8 R
AR &1 AR 24 4. 8|

Find the total surface area of a cone, if its slant height is 21 m and
diameter of its base is 24 m.

JeEr/OR
Iq M 1 B a1a I, e gy sdawa 154 9912 2
Find the radius of a sphere whose surface area is 154 cm?.
G1a ud fRyad @1 1000 IR IBTe W r=fefad aRaman ura &t @ -

firq — 455, g€ — 545
uﬁmmaﬁmﬁmﬂmﬁmaﬂﬁm

A coin is tossed 1000 times with the following frequencies -
Head - 455, Tail - 545

Compute the probability for each event.

—
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sﬂﬂmma}uﬁaﬁnﬁmmaﬂﬁm

Two coins are tossed simultaneously 500 times, and we get -
(1) Two heads : 105 times

(20 One heads - 275 times
(3) No heads : 120 times

Find the Probability of occurrence of each of these events.

9.15 wéaﬁmﬁiﬂma%wwwzooé?ﬁqﬁq#w?mmm
mmmiﬁmm&mﬁwaﬂ?ﬂmzmzawaﬁma}wﬁ

3P 0 |'1 2 '3'_[E_T's_'l7 8 [9
Tm'wTva?z—z_rzE Jzzizz _' 20 [10 |14 12#6 20 ‘
IS & 3@ 4, 37 e A 5 v wem o) & aforg,
Mqﬂwaﬁn@mgmwama%wwamesﬁaﬂnmm
a7 grfr?

On one page of a telephone directory, there were 200 telephone
Numbers. The frequency distributions of their unit place digit (for
example, in the number 25828573 the unit place digit is 3) is given.

ot [0 [1 |2 (3 4 T5 |6 |7 3(9 |
F&quency 22 |26 L22 [22 20 |10 |14 53_'_ 16_4 20

Without looking at the page, the pencil is placed on one of these
number i.e., the number is chosen at random. What is the probability
that the digit in its unit place is 67
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aerq1 / OR

ue faemdt grr wifas gfae oden g gnd ST T g @1 wfawmed A foam

TR -
gfae g o T T W v
Ut i@t @ ufeed | 69 | 71 72 68 74

e e & T T A i AR 7@ e o

3 ag femit 70% } 3 3 wra a8

The percentage of marks oblained by a student in the monthly unit
tests are given below -
Unit test | ol Il IV V

Percentage of marks obtained 69 71 73 '68 |74

Based on this data find the probability that the student 'gms more than

70% marks in a unit test.

u1e foa § afz AB||CD, CD|EF 3R y:z = 3.7 & @ x & HA WA HNAT |
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In fig.. it AB||CD. CD||EF and y:z = 3:7. then find the value of x.

3@/ OR
fra ¥ af¥ ZPOR =<PRQ 2, @ feg A % £PQS = ZPRT ¢}

P

«— —
s Q R T

In figure, if ZPQR =£PRQ, then prove that ZPQS = £PRT.

P

S a R T

W17  AABC ¥ <A &1 wafgao® AD J91 BC W &= &, quigy f» AB=AC
2l

In AABC, the bisector AD of ZA is perpendicular to side BC. Show

that AB = AC.

0
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9.19

s /OR
g 3 60° €11 B

zuizv b f@ wwag B &
60° each.

s of an equilateral triangle are

Show that the angle
e g Y T AL P I

fre Afor 6 af2 wabraa gdl @

FX. @ MAw e A 2|

les at their
Prove that if chords of congruent circles subtend equal ang

centre, then the chords are equal.

Jvar/OR
5 M awn 3 w0 Frow A @ g9 A gl W IRDT FX & dn
9% 1 @ A gh 4 2 owfie da A T Fa PR

Two circles of radii 5 cm and 3 cm intersect at two points and the
distance between their centers is 4 cm. Find the length of the common

chord.

UF €M A gedld @ 10 ¥4 A Prafafea ma fy —
2,3,4,50,1,3 3,4, 3

1 Ml H wE B A S Ao

The following number of goals were scored by ateamin 3 series of 10
football matches -

2,3,4,50,1,3,3,4,3
Find the mean of these data.
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Suar/OR

O B e N 15 fnnfera (100 A ) Preifafan i@ wra e

41.39. 48,52, 46, 62, 54, 40, 96, 52, 98 40, 42, 52, 60

ﬁmmmmml

In a Mathematics test given to 15 students. the following marks

(out of 100) are recorded - https://www.mpboardonline.com

41, 39, 48, 52, 46, 62, 54, 40, 96, 52, 98, 40, 42, 52, 60
Find the median of this data.

120 IR @ apiw 3 Aot @ g @ aRwm B, @ 78 @ AERR

T B R @)
It the diagonals of a quadrilateral bisect each other, then it is a
parallelogram.

a1 /OR

waﬁaﬁaﬁwa:s:gﬂaaﬁuﬂqﬂﬂ?lﬁﬂqﬂﬂiﬁmmm

|
The angles of a quadrilateral are in the ratioof 3:5:9:13. Find all

the angles of the quadrilateral.

n21qmanéﬁsw$uﬂﬁ$ﬁ?s“90°$mﬁmml @)

Construct an angle of 90° at the initial point of a given ray.

m_a_’ ;.g. 15011;




9.22

H.23

Juar/OR
wmgﬁgmaﬂmﬁmm_aﬁwgmﬁﬁ.m

Construct an equilateral triangle, if one side is 5 cm.
oF Prpt 31 & ST A, Rrad 2 g 8 4 ok 11 7. iR
gR¥a 32 ). 2|

Find the area of a triangle, two sides of which are 8 cm and 11 cm and

the perimeter is 32 cm.
Juar/OR

F PRoTeR q@ve A qenet @1 aua 3:5:7 & IR IwE oA
300 #. &) W WIS T SAGBA A P |

The sides of a triangles plot are in the ratio of 3:5:7 and its perimeter

is 300 m. Find area of this plot.

S8 14 AW, I TP R FAG 96T FT I TOY A% 88 2R

A9 B AR T ATH T DI |

The curved surface area of a right circular cylinder of height 14 cm Is

88 cm?. Find the diameter of the base of the cylinder,

Juai/OR

10 W Browm ae @ Jdid @ g qEE deea s fsfore |

(m=3.14)

Find the total surface area of a hemisphere of radius 10 cm. (n =3.14)
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